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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TOamefl 9auYH 319 U¥9 95 W AHie Aard: fad |
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T I % et 9 st ®U=R # forelt g & qfe / TR / faireny® 31 W
fe=<1 11 o T¥H i W&l °H |
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be
treated valid.

3. 9t gy & AfTad § | U wHie 229 24 H 37die famed § |

All the questions are compulsory. There are internal choices in
Question Nos. 22 and 24.

4.  TUH Y 1 I I S ST-YfEdent | 71 fad
Write the answer to each question in the given answer-book only.

5. 599 791 % wF ¥ aifyss TaE ofF arel 9m ¥, 39 Teft 9l 1 T T WY Haq
ferd |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. YT HA® 1 TR 9 ( i, ii, iii T iv ) § | T&F 9N % I & =R fasmeq
(3N, &, AT T) € | TET fasheq o1 STER STR-Ys # frerqEr arfers
ERIETRICHR
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U hHeh T 3T HT THATRR

Question No. Correct letter of

the Answer

1. (i)

1. (ii)
1. (iii)
1. (iv)

1. () Ffafed =esr 4 4 o9 @8R 9 SRRl & @Rt gSt § aftexdd
B ?
(37) STET0 & FWI () Yt W A 6 FR
(@) sfafRF St F e () A1W-BI e & 5N |

From the following transactions, which transaction will change
the fixed capital of partners ?

(A) By drawings
(B) By interest on capital
(C) By additional capital

(D) By distribution of profit and loss. %

(i) TRE o Idet SRTeX oY dicd gC Th HH o WEER § | S=IT 590 i ®H
T yow fean | IRg S8 1y feTq w1 STen um <ar ® | ST A A9-g1A

[ERISERERRICR
(1) 1:1:1 (7)) 1:2:1
 2:1:1 () 1:1:2

Sharad and Sheetal are partners sharing profit equally in a firm.
They admitted Isha in the firm. Sharad gives him half of his own
share. Their new profit and loss sharing ratio will be

(A) 1:1:1 M) 1:2:1
(@) 2:1:1 D) 1:1:2.

N —
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(iii)

(iv)

3

T, a8 d S 2 : 3 : 5% 39 H oY dicd UEER € | T H 9
SIS TEU @1 © | TIHeAHT T B 12,000 o | 39 WEGRl |
R

(31) S-SR (&) Yt % eFgara §
(@) @R awsH (3:5) (¥) 2:3:5.

X, Y and Z are partners sharing profit in the ratio of 2 : 3 : 5.

X retires from firm. Loss on revaluation is Rs. 12,000. It will be
distributed in partners

(A)  equally (B) in Capital ratio

(© inYandZ(3:5) (D) 2:3:5. :

T % TEH W TH AHER R EH w1 @fd o St 8 | S wiete
B
(31) Realisation A/c Dr.
To Partners’ Capital A/c

() Partners' Capital A/c Dr.

To Realisation A/c
(¥9) Goodwill A/c Dr.

To Partners' Capital A/c
(]) Partners' Capital A/c Dr.

To Goodwill A/c.

At the time of dissolution, the goodwill of the firm is taken over
by a partner. The Journal entry will be

(A) Realisation A/c Dr.
To Partners' Capital A/c
(B) Partners' Capital A/c Dr.
To Realisation A/c
(C) GoodwillA/c Dr.
To Partners' Capital A/c
(D) Partners' Capital A/c Dr.
To Goodwill A/c. :
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2. TiRE 9 foene we-wed ¥ | Rd g U 9 fad & T & sHa gfafe
ST, Afc a7 o gkl § 9% ey Tl 9EE 9ikl & qS il © |

Gaurav and Vishal are co-venturers. Give Journal entry for a B/R
discounted by Gaurav, if he maintains complete records of the

transactions of Joint Venture in his books. 1
3. 9o H foskd foerur s § 7 39 I TR w1 ® 2

What is account sale in consignment ? Who does prepare it ?
=1
4. Tot-wa vgfa § d@es 7 gwiew fF3 A4 &1 fasa Jmg 99 W 5,000 %o

= fohd | Higd &1 &l § SHa gfafe s |

Under Hire Purchase System, Mohan spent Rs. 5,000 to make salable
the repossessed goods. Give Journal entry in the books of Mohan. 1

5. fr% yam ugfa § =e St @ w1 99 shdl & 31| @il ¥ el 9 forg et
H fe@m € ?

Under Instalment Payment System, where and on which side of final

+

N —
N —

accounts of purchaser, is the balance of Interest Suspense A/c
shown ? 1

6. % WH HI TGS 1,40,000Fo T | T8 HH 1 F0d AW 45,000 Fo T | Yt W
T St X 25% ATMYh & | @G A1 Jodihd A & goiiehion & TR T
HITST |
The capital of a firm is Rs. 1,40,000. Average profit of the firm is
Rs. 45,000. The rate of return on capital is 25% p.a. Calculate the
valuation of goodwill on the basis of capitalisation of super profit. 1

7. U9 ft % o IT=d WA 1 99 1 ¥, 2009 F 10,000 Fo T | AT 6%
aiftfer o ST € 1 99 & o H Al 1 YIdE 16,000 o fHAT ST §
31 A€, 2010 &I Hy] ot & Alfte 3ol WA % VT T &I S qfare
ISl

The Balance of Manju Shree’s Annuity Suspense A/c is Rs. 10,000 on

1st April, 2009. Interest is charged at 6% p.a. At the end of year,
Annuity is paid Rs. 16,000. Pass Journal entry on 31st March, 2010

for transfer of the balance of Manju Shree’s Annuity Suspense A/c. 1
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8. WIS 9 HYA A HAW: 16,000 Fo & 24,000 Fo F TIH Sk @Il WIAAHT WD
HEH 3 fohAl | 38 30,000 To T HIA T U1 HEE 7 2,000 o hl
O 99 Vs | 9 faa | 3= 995 °1d 50,000 %o H o4 e |
G Tred @Il 91gd, Al g J&ioh T8l Sl € |
Madhav and Keshav started a Joint Venture with Rs. 16,000 and
Rs. 24,000 respectively by opening Joint Bank Account. They

purchased goods for Rs. 30,000 and Madhav supplied goods from his
own stock of Rs. 2,000. They sold all the goods for Rs. 50,000.

Prepare Joint Venture A/c, if separate books are kept. 2

9. 3iHW o 3ifehal Tk TIH Wd H 10 A HIZ-TEHa d I § |
TIe-TTshdl o hd Yo 9 TOHA Ffed 1,20,000 To T gT | 8 HII-HIhl
1,50,000 %o H o= TE | W HIS-WIEhel I He-HEH ¥ &N T 1@ ofd
¥ | 9T wred &1 fuerr # fean
Y g Wed @l 9sT |
Ankush and Ankita purchased 10 old Motorcycles in joint venture.
Rs. 1,20,000 including purchase price and repairs was spent on the
motorcycles. 8 motorcycles were sold for Rs. 1,50,000. The remaining

motorcycles were, kept by both coventurers at cost. Settlement was
made of Joint Venture.

Prepare Memorandum Joint Venture Account. 2
10. 1000 faum™ 71 60 To Ffd fhalium™ &l T ¥ Y90 W 91 | 50 fhaum A1

=t BT 81 T2 91 Wt 7 760 foheiumm Ara 80 Fo Ufd fohetiumm o=

fean | fom fask w1e1 61 goa 91a skifsie, afe

(31) 50 fReumg 91at i 9= 8T 9T S |

(9) 50 fwaum™ 91 1 TEE= 819 91 9 |

Goods 1000 kg @ Rs. 60 per kg were sent on consignment. 50 kg of
Goods were damaged and consignee sold 760 kg goods @ Rs. 80 per
kg. Calculate the value of unsold goods if

(@) 50 kg of goods are treated as normal loss.

(b) 50 kg of goods are treated as abnormal loss. 2
11. TH 9ot 9 30,000 Fo sitsieh Hed sl HIA 40,000 %o H &= fS4H 12,000 %o

%1 39R fasa wffa T | Yool Sisteh 7o &1 5% T4 38N 2Afus 7o R faska

T T 25% FHHIA F AFFEN T | 39 IR fosha W10% wReng wHeE of

foerar & 1 39S ¥ 10,000 %0 & 9HA BT |

Tyl Skt GEIehl H HHYH QIdl SR |

A consignee sold goods of invoice price of Rs. 30,000 at Rs. 40,000

which includes credit sales Rs. 12,000. The consignee is entitled to a

commission of 5% on invoice price and 25% of the excess sale value

over that. He also receives 10% del credere commission on credit sales.
Only Rs. 10,000 were recovered from the debtors.

Prepare commission account in the books of consignee. 2
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12. ‘T w1 g0’ @ ‘fRe e § Jfe’ % onuR W few oram ugfa’
I forrn w67 usfa’ 9 st wifSe |
Give the difference between 'Instalment Payment System' and 'Hire
Purchase System' on the basis of ‘Transfer of Ownership’ and ‘default

in payment of instalment’. 2

13. 9N 9 a1 Th ®H H 2: 1 F oy sfedt gf UEeR € 1SR s A ; TR &

fore & # wnfia fFam | 39 & 12,000 Fo =AGH TN H T & o SET
T WERRI 7 IeR T H 989 &Gl | 31 A€, 2010 &I FATG T4 aTel
I § TH ! 40,000 To T ATH T |

AT 1 SR fewmd gu ary-g1f e @ ArEe |

Asha and Lata are partners in a firm sharing profit in the ratio

of 2 : 1. They admitted Usha for % th share in the firm. Usha was given

a guarantee for minimum profit of Rs. 12,000 which will be borne by

both old partners in equal ratio. In the year ending on

31st March, 2010. the firm's profit amounted to Rs. 40,000.

Showing the distribution of profit, prepare Profit & Loss Appropriation

Account. 2
14. A, AT W 3:2: 1% 3TU | A1 dicd gL IBER § | AHE § TR Tg0

FAT T | Wh Y 1 feT SU AT © | TR T A 6,000 Fo T |

a9 IfEd % Hed § UREdd T8l T 8 | IAHeHRT W A H SHd

wfafesr difsm |

A, B and C are partners sharing profit in the ratio of 3 : 2 : 1.

C retires from the firm, B takes C’s share of profit. The profit on

revaluation is Rs. 6,000. Amount of Assets and liabilities are not to be

changed. Pass Journal entries of profit on revaluation. 2
15. (1) TR 9™ W goheH | feaferan 9eier &1 9 SRy |

(9) H % FHMYA o HEER] & FHOA H Teh 3T darsy |

(a) State the name of insolvent partner in case of Garner vs. Murray.

(b) State a difference between dissolution of the firm and dissolution
of the partnership. 1+1
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16. TIX 9 UK GHM UM H GgH el H wWifHd g1 € | T9=% 7 200 Hiegd
HIF 2,000 To Yid HisMgdd HIF i X 9 THe, TSFH ¥ 100 HAEEA BIF Ae=S
1 991 fed | 9l 10 Hiamsd ®wH =R g1 T | SH w7 18,500 %o Srell
wiaR fear a TRT <= &1 9 g3 | 94t Jieasd ®iF o 1 2,500 Fo Ffa
qrasd HiF a9 985 1 2,600 To fd HiaEd ®iH & X ¥ 99 g | 981 9
A &F 1,500 %0 TAX T G | T9K B TEIHI H TY0l G g9 Hd g SHA
wfafteat wifse |
Devendra and Mahendra enter into a Joint Venture in equal ratio.
Devendra purchased 200 mobile phones @ Rs. 2,000 per mobile
phone, out of which 100 mobile phones were sent to Mahendra. In
transit 10 mobile phones were lost by theft. A claim of Rs. 18,500 was
accepted by the Insurance Co. and amount received by Devendra. All
mobile phones were sold by Devendra @ Rs. 2,500 per mobile phone
and by Mahendra @ Rs. 2,600 per mobile phone. Freight and
insurance Rs. 1,500 were paid by Devendra. Pass Journal entries by
recording all the transactions in the books of Devendra. 3

17. FIE o AERI A HATG i T Sl 10 He HFFIX 20,000 Fo i HFL St
Hed ( ANTd eI 18,000 Fo Ufd He ) T Y0 qT A | AN F TS AIel & i1
% 20,000 %0 &M | TS o MEH H 2 WS I 1 T | & A
8 HFIEL 22,000 %o Ufd HFH K1 T H o9 o U1 500 To Ufd HrL
FHHIIH forsha W oga foran | S e 9§ <19 s &9 H I 1 30,000 To
I §C |
AT hl &Ikl § AN o § Y907 Grdl 9118 |
Yogesh of Mumbai consigned 10 sets of computer ( costing Rs. 18,000
each set ) at an invoice price of Rs. 20,000 each to Rajni of Manali.
Yogesh incurred carriage and insurance expenses Rs. 20,000. Two sets
were stolen from the godown of Rajni. Rajni sold 8 computers @ Rs.
22,000 per computer and charged Rs. 500 per computer commission
on sales. Yogesh received Rs. 30,000 from the insurance company in
settlement of the claim.

Prepare Consignment account by cost price in the books of Yogesh. 3

18. TE@YS oM o Jd =1 TfgAl 1 91 &1 | STTa¥IH GUR I :

(i) Torsha =&T =1 91T 2,000 %o § HA T |

(ii) e O IR o B9 1,000 %o Hed B €Id § 100 %o foran |

(ili) TUHhS T&T & A9 9T § A & 500 Fo i G ITh AFHTT @I H T
Al

The following errors were discovered before preparation of Trial

Balance. Make necessary rectification :

(i) Total of Sales Book has been undercast by Rs. 2,000.

(ii) Depreciation charged on Machinery Rs. 1,000 has been posted to
Depreciation Account as Rs. 100.

(iii) The amount of Rs. 500 of Sunil on debit side of cash book has not
been posted to his personal account. 3
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19. dAY M o a1 T SIfgdl o1 odl o | de7ue & 3T ki T I==dl @1
T gTaTid T & TE |
(i) T8N &1 YR fasha 1,600 %o 39F AfHTd @A H 600 %o T WA T |
(i) STFAF WA R TH AT S 1,200%0 &l AN o ST THF AT &7 H
120 %o for@ feam |
(iil) W= foeT =T 1 AT 1,800 %o i WAt <F faar @ § X & |
(iv) € ST o STHT 9&l o &g @Id a1 AN 200 %o H HH & T |

3T GUR o 91 T Ia=it @rdl o135 |

The following errors were discovered after preparation of trial balance.

The difference amount of Trial Balance was transferred to Suspense

Account.

(i) Credit Sales of Rs. 1,600 to Aruna has been posted to his
personal account as Rs. 600.

(ii) A Debit balance of Rs. 1,200 of Ankit’'s Account carried forward
on credit side as Rs. 120.

(iii) Total of Bills Receivable Book Rs. 1,800 has been posted in Bills
Payable Account.

(iv) The total of discount column of credit side of cash book has been
undercast by Rs. 200.

Prepare Suspense Account after the rectification of errors. 3
20. TH Q@A 7G9S & 3T i T 901 @Td H SETr=ard L &f qefl

31 914, 2010 &1 fag =1 faam =1 fean | e¥a 2010 ® f=1 syqfsat &1 wan

=l

(i) WAeR S W AT T ME! HIET 500 Fo ST WISI WId | A9 & feam |

(i) WSO I 1,700 %0 1 HIA wlern Fert oran w3 9iet § & faan |

T 2010 RfgAl & gur =+ yfafear G |

An accountant transferred the amount of difference of Trial Balance to

Suspense account and tallied the Balance Sheet on 31st March, 2010.

In April 2010 following errors are discovered :

(i) Cartage Rs. 500 paid on purchase of furniture was debited to
cartage account.

(i) Goods worth Rs. 1,700 returned to Praveen was entered in
purchase book.

Give entries for rectification of errors in April 2010. 3
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22.
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A, TTATH FH Y 3:2: 1% qud § oy dicd gC AR & | ®H 7 9ot
TR & S W 45,000 Fo i Teh FIH Sita o1 wiferdt of & € |
1318, 2010 ! TIH o <7 Wiferdt 1 FHYT oI 9,000 To 31T 7T |
1379, 2010 1 W &1 JEashi # fe ufifeafadl & sea gfaftear S
@) I AEH Y TR T HIA T
(i) afc TWH GG & A &
A, B and C are partners in a firm sharing profit in the ratio of 3 : 2 : 1.
The firm has taken a Joint Life Insurance Policy of Rs. 45,000 on the
lives of all partners. The surrender value of Joint Life Insurance Policy
on 1st April, 2010 is estimated at Rs. 9,000. Pass Journal entries on
1st April, 2010 in the following conditions :
(i) If C takes retirement from the firm
(i) If C is expired. 3
T d o 2 : 1% 3199 | a1y dicd g FEER § | 31 979, 2010 i SH!
w4 &1 fag T TR ®

31 T, 2010 T fogr

EURG] %o wfaar %o
31T oA 1,000 | S 39 17,200
= FI 9,000 | TTER 16,000
gt T 60,000 ST : @A 1,200 14,800
a9 50,000 | 1,10,000 | Y&faan 40,000
I 9 HI 48,000
"1,20,000 1,20,000

1310d, 2010 1 S TS H! 5 @ & fow wd & yavr fean 58 o8 e @

I N | 39 w5 = fofa fed
(i) SIS % &I H 36,000 Fo Ths AT 14,000 To I & TH fado & 3w

A E

(i) H S S N SAAHE oI 16,000%0 § | WS 70 e &l @i The
AR

(ili) SIGRI W gad kU A™SH 10% Tk @M1 S& A°1 9 3Iqd odd ohi
STTevIehdl Tl § |

(iv) ¥ 9 TR 40,000 Fo T Yeiferd fohan a0 Efaam 2,000 %o & Fgm@1
S
e & YA R WEERI o Ysi @1d TE fag1 a9 |
3rerar
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qH, W 9 99 Tk HH | 9EER § | 31’1, 2010 &1 37T feafa-faeaxo 4

EEJRS I

31 HT=, 2010 1 frarfa faavor

CUREE] ®o o ®o
gsit- o | 42,000
| 30,000 fafam 17,000
A 20,000 Y e Sffar urferdt 15,000
qg 15,000 65,000 | TEfqan 18,000
I\ 1 =T WAt 7,000 RN 16,000
I 1 =Te] @l 3,000 10,000 | ¥ kT =Tc] @Il 2,000
= E= 12,000 | &% H ks 20,000
S R 28,000
g Siter e uiferdt d== 15,000
'~ 1,30,000 1.30,000

30 ToawR, 2010 T4 HT TF T TE | 3T o 39 R | :

(i) F% 500 %o HITEH a7 AT YT T 10% AMHHk TS 1 SATURRT o |
(i) SO T P foarg 29 3,000 %0 wH F el |

(iii) SHRT A1e] a4 1 Y H feTH 7d I o ATH o SR T AT |

(iv) ©nfd 1 Jedied Td 9IR a6 o 3A9d 1Y &1 90% W fhan S § 1 7@
=R auf § 2010 " M9 — 6,000 %0, 2009 H ¥ — 7,000 %0, 2008 H
B — 2,000%0 q1 2007 H &MY — 9,000 %o T3 |

(v) faf=anii 1 adu™ ged 20,500 Fo T T HeH W 2,000 To HT oI g
TR

(vi) GIF Sfrer St giferst 1 GaE 30,000 %o et T |

(vii) 9% 1 T ThH % 5,750 Fo T YA Y Y ThH 3Gk ITUTHRRT &
U @Td H gET=Id Y |

T 1 Y QAT o SHHT =Te] @Il FAET |
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X and Y are partners sharing profit in the ratio of 2 : 1. Their Balance

Sheet as on 31st March, 2010 is as under :

Balance Sheet as on 31st March, 2010

Liabilities Rs. Assets Rs.
Outstanding Salary 1,000 | Bank Balance 17,200
Reserve Fund 9,000 | Debtors 16,000
Capital : X 60,000 Less : Provision 1,200 14,800

Y 50,000 1,10,000 | Stock 40,000
Plant and Machinery 48,000
1,20,000 1,20,000

They admitted Z in the firm from 1st April, 2010 for % th share, which

he will receive from X. Following decisions were taken on that time :

(i) Z brings Rs. 36,000 in cash and share of Ram Ltd. worth

Rs. 14,000 as his capital.

(ii) The present value of firm’'s goodwill is Rs. 16,000. Z brings his

share of goodwill in cash.

(iii) Provision for Bad Debts on debtors be increased to 10% and

outstanding salary is not required now.

(iv) Plant and Machinery was valued at Rs. 40,000 and stock to be

increased by Rs. 2,000.

Prepare Partners' Capital Accounts and Balance Sheet on the

admission of Z.

SS—30-1—Account. I
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Som, Mangal and Budh are partners in a firm. Their Balance Sheet as

on 31st March, 2010 was as follows :

Balance Sheet as on 31st March, 2010

Liabilities Rs. Assets Rs.

Capital : Building 42,000

Som 30,000 Investments 17,000

Mangal 20,000 Joint Life Insurance Policy 15,000

Budh 15,000 65,000 Stock 18,000

Som’s Current A/c 7,000 Debtors 16,000

Mangal's Current A/c 3,000 10,000 Budh’s Current A/c 2,000

General Reserve 12,000 Cash at Bank 20,000
Bank loan 28,000

Joint Life Insurance Policy

Reserve 15,000

1,30,000 1,30,000

On 30th September, 2010 Budh expired. Other information are as
follows :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

He was entitled to salary of Rs. 500 per month and interest on
capital at 10% p.a.

He withdrew Rs. 3,000 for his daughter’s marriage from the firm.
His share in profit for current year will be based on last year’s
profit.

Goodwill is valued at 90% of Average profit of last four years.

In last four year profit in 2010 — Rs. 6,000, profit in

2009 — Rs. 7,000, loss in 2008 — Rs. 2,000 and profit in

2007 — Rs. 9,000.

The present value of investments are Rs. 20,500 and depreciation
is to be charged Rs. 2,000 on Building.

Payment received Rs. 30,000 for Joint Life Insurance Policy.

(vii) Amount due to Budh is paid Rs. 5,750 in cash immediately and

Balance of Amount transferred to his heir’s loan account.

Prepare Budh’s Capital Account and his Current Account. 6

SS—30-1—Account. I SS-558
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23. TR T TAS TH HH H 3 : 2 F TIUd H A1 died gL WEER & |
31 fegm=, 20101 3771 fagl 7 TR o :

31 fquwr, 2010 = forgr

CURGE] ®o o ®o

St : RS 47,000 | A 6,000

HH €9 3,000 | X 7,000

ThT &1 Tt § 10T 20,000 | WK 2,000

[GREAR 30,000 | @fdan 5,000
TER 40,000

HETET : ™S 5,000 35,000

M-I @ 6,000

ECIRREIE 20,000

Thg 19,000

1,00,000 1,00,000

3 fafy &1 3|11 ®H &1 FHYT w1 70 TRl | Tohe o1 THafaal i agelt W
5% SHHTIH THAT qo1 St =2 o8 T 989 Ol |

T ¥ 1,500 Fo IYA BT, WA F 10% FH 41 SI8RI ¥ 33,000 Fo TGA
U | &0 | s off aga 81 g | ageit & 500 To AT | HFe Tk A
5,000 %o H T@T qAT I8 AU Tl o T 1 AT I hl TgHd

BT | TFGRI &l 5% dg T AR 1 a1 | ®H o favg &fd & fae ws g o
S 2,000%0 H HAMS 7 FHET |

S WA 9 WEER] o YSit @I TFR S |

SS—30-1—Account. I [ Turn over
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Rakesh and Manoj were partners sharing profit in the ratio of 3 : 2.
Their Balance Sheet was as follows, as on 31st December, 2010 :

Balance Sheet as on 31st December, 2010

Liabilities Rs. Assets Rs.

Capital : Rakesh 47,000 Goodwill 6,000

General Reserve 3,000 Computer 7,000

Loan from wife of Rakesh 20,000 Furniture 2,000

Creditor 30,000 Stock 5,000
Debtors 40,000

Less : Provision 5,000 35,000

Profit and Loss A/c 6,000

Capital : Manoj 20,000

Cash 19,000

1,00,000 1,00,000

On that date, they decided to dissolve the firm. Rakesh will get 5%
commission on the realisation of assets and he will bear realisation

expenses himself.

Furniture realises Rs. 1,500, stock 10% less and Rs. 33,000 were
realised from debtors. Nothing could be realised from goodwill.
Realisation expenses incurred Rs. 500. Computer was taken over by
Rakesh at Rs. 5,000 and he agreed to pay his wife’s loan. Creditors
were paid at 5% discount. There was a claim for damages against the
firm, which was paid by Manoj at Rs. 2,000.

Prepare Realisation Account and Partners’ Capital Accounts. 6

1 3@, 2007 & TH 9 7 f&0 w7 16fd W ©H w0 4§ & w9
TS | A AE 16,440 %o fRar T den 3w Ui wfd 9 31 W Wl
30,000 %o ! THF fh&dl # FaM ST 1 FHeirar fohan | 7eia &1 et
T 75,000 Fo ¥ | forran fashar 25% anfifer 1 X & = onman © | e
Sl Ifd o8 SR B fafY o YR W 10% i X § Hod 39 Aufarad sl
T

T faveryur difeert sAga fSad gk foeed | enfier =ae 9 Ushel qed 91
FHIT | TH §F & &b | qeafa sifsia fafy § 9= @mar a6y |

3rerar
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1 3@, 2008 I fHyR scd 7 g we 9 ¥ fFw gmam 9gfd |
Hrge e foran foment faawo f g % -
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On 1st April, 2007, Ram Sons purchased a machine from Rahim
Machinery by Hire purchase system. Immediate payment was made
Rs. 16,440 and it was agreed to pay the balance amount in three
instalments of Rs. 30,000 each on 31st March every year. The cash
price of the machine is Rs. 75,000. Hire vendor charges interest at the
rate of 25% per annum. Hire purchaser writes off depreciation at the

rate of 10% on the basis of Diminishing Balance Method.

Prepare an analytical table, in which calculate interest and cash price
included in each instalment. Prepare Machinery Account in the books
of Ram Sons' by Asset Accrual Method.

OR
On 1st April, 2008, Kishore Brothers purchased a computer from Shiv
and Sons on Instalment Payment system. The particulars are as
follows :
(i) Cash price Rs. 25,000.
(ii) Immediate payment Rs. 7,000
(iii) Every year Rs. 6,000 + interest in three annual instalments.
(iv) Interest will be charged on outstanding cash balance @ 10% p.a.
(v) Depreciation will be charged @ 20% p.a. on Diminishing Balance

Method.
Prepare Computer Account and Shiv and Sons’ Account up to
31st March, 2010 in the books of Kishore Brothers. 6
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